A STORY OF UNITS

Name

Lesson 17 Problem Set m

Date

1. Estimate the quotient for the following problems. Round the divisor first.

- 'EUREKA
MATH

a. 609 +21 b. 913+29 €.; 826:+37
=~ 600 + 20 =C-'\063 = 50 = 8(23 g L{O
=30
= 30 = 20
d 141:73 e. 241+58 f. 482+62
‘v, 10 "d%0. 6o U486 + O
= % = L* = 8
g. 656 +81 h. 799 +99 i. 635+95
= S./O = 860 : 100 = @CXJ Soiee
LYo ;
g = g =
jo 31176 k. 648 +83 . 143335
2?20 go z(pqO— go = [éo = 46
~ +
% 8 o
m, 525+ 25 n. 552485 0: 667 +11
= (DOCD + j() = Seo + go = ch) = ‘ O
Lesson 17: Use basic facts to estimate quotients with two-digit divisors.
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A STORY OF UNITS , — Lesson 17 Problem Set m

2. Avideo game store has a budget of $825, and would like to purchase new video games. If each video

game costs $41, estimate the total number of video games the store can purchase with its budget.
Explain your thinking.

budgel 25 x geo 6 =406z QO
4 %55* A= 4o

acawl

R

The steve canv {DU\/ a(cou»’f 20\3&2%65‘

3. Jackson estimated 637 + 78 as 640 + 80. He reasoned that 64 tens divided by 8 tens should be 8 tens. Is
Jackson’s reasoning correct? If so, explain why. If not, explain a correct solution.

ISV = aiozbo=42

} \ ¢
Jozc ‘ﬁSUfL seews CoWecl . —H 15 foundin

i

15 close enov an %ﬂ «NL acce P+a o le

- J ‘-u‘-
nanloers. 5
4¢1 637
24
\ 3
EU“KA Lesson 17: Use basic facts to estimate quotients with two-digit divisors.

MATH
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A STORY OF UNITS ' Lesson 17 Homework m

Name Date

1. Estimate the quotient for the following problems. The first one is done for you.

a. 821+41 b. 617+23 c. 821+39
=~ 800 + 40 = =
Loo 2 2o %06 « WD
=20
— 30 = 46
d. 482+52 e. 531+48 f. 141+73
e . e 506 .50 1 e
-_lo =_ O = W
g. 476+81 h. 645 +69 ii=" 5995599
2500 - W 3‘700 ; PO =@CC) o S
= 5 = lo = @
jo 301+26 k. 729+81 l. 636+25
=3OO = 50 2860 s g() zépﬁo = O
B o s -_20
m. 835+89 n. 345+72 0: 55914
=O]OO = qO =%O +R 7’0 :@OO 2 (O
= lO = 5 —; SEZ

Lesson 17: Use basic facts to estimate quotients with two-digit divisors.

EUREKA
MATH




A STORY OF UNITS

Lesson 17 Homework [-173)

Name Date

1. Estimate the quotient for the following problems. The first one is done for you.

MATH

a. 821+41 b. 617+23 821 +39
=800 + 40 = =
GO 2 2O o6 . Yo
=20
= 25 = 46
d. 482 +52 e. 531+48 141+ 73
e e B St i tia
= =& 26 e e
g 476+81 h. 645 +69 599 =99
b WS | oo, TP o . 100
= 5 = {O = @
jo 301+26 k. 729+81 636 + 25
300 . A6 300 SB6 (0 . 30O
= !O =4 to = ;‘O
m. 835+ 89 n. 345+72 . 559+11
oo 90 350 . 30 “wo . Lo
= AO = 5 = é_

Lesson 17:

EUREKA

Use basic facts to estimate quotients with two-digit divisors.
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A STORY OF UNITS

Lesson 17 Homework m

2. Mrs. Johnson spent $611 buying lunch for 78 students. If all the lunches cost the same, about how much
did she spend on each lunch?

36!l M"S-Jo‘/‘t"ééw L1t T8 % o250 =8
1% students > 33
A
—5Y4¢
5,
e wouldh 5‘96/6 L

2 &

alopul 3 %00 per lundch- _’ii\%

3. An oil well produces 172 gallons of oil every day. A standard oil barrel holds 42 gallons of oil. About how
many barrels of oil will the well produce in one day? Explain your thinking.

12 @abhms o\a«&\\/

o~ 42.2% Peo = =
42 @qums o el o~ 4 [ o =4o

(AT

L2
T

undng down to, (€0 hg//?{ e
Z?eé ZM e’sf/m@ﬁ& cLoser To Jhe

exac 70(0{2:2,;%7" 10 15 closer
2. X 7

thaw 200-
Eu REKA Lesson 17: Use basic facts to estimate quotients with two-digit divisors.
MATH
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ASTORY OF UNITS Lesson 18 Problem Set 2

Name Date

1. Estimate the quotients for the following problems. The first one is done for you.

a. 5738-21 b. 2,659 +28 c. 9,155:34
~ 6,000 + 20 =R +_ DO = ,000:_ 30
=300 =_300 = 300

d. 1,463+53 r e. 2,525+64 f. 2,2711+72
=,660 + 50 | D,002: (O I Nes, 1O
=500 - 5o s

g 4901575 an h. 8515+81 i. 8515+89

-5p6o . oo =£2¢¥ZQ+JO'O = C;?,(ZD + 20
- 50 - The . (oo

j. 3,925+68 k. 5,124 +81 l. ‘4,945 +93
=i@+io_ 9060 - (0O 9000 . o
= .‘.Z c 2 = 50 = 50

m. 5,397 +94 n. 6,918 +86 o. 2,806 =15
Gooo . oo -7000 . 0O - 3,000:_O

- %o |- 70 -_F00

EUREKA
MATH

Lesson 18: Use basic facts to estimate quotients with two-digit divisors.




ASTORYOFUNITS : : = Lesson 18 Problem Set m

2. A swimming pool requires 672 ft* of floor space. The length of the swimming pool is 32 ft. Estimate the
width of the swimming pool.

2\
612 $2 floor Prenines e
e 97§12 326X @ Sl
328t . lovjhv  z(eo =30 —3
The Widdl, woull T 2201, = 225t .

3. Janice bought 28 apps for her phone that, altogether, used 1,348 MB of space.
a. If each app used the same amount of space, about how many MB of memory did each app use?

Show how you estimated. _5-8___

Apps 2% (5548 253’” 2¢ |\ 5;\8
: L, b= 3o = t
Space \,24€ Zo ":{58

: =3 4
Eadh app uses UB MB or about Goup i

b. If half of the apps were free and the other half were $1.99 each, about how much did she spe:(g?
0 a pys 5%032=25
dl.aa eackv 25 x .94
2 ooX 2 =ke
Jandce wuud 0(/5(96'@1 oo J( 460.

4. Aquart of paint covers about 85 square feet. About how many quarts would you need to cover a fence

with an area of 3,817 square feet? ; A{
qmtcov@ﬂ 301 1= 39 89 ‘3,5”
el

80 ¢1* & Aot = BC v
totel acwﬂ;- ~ g6 SL(@
I AWES « o o &
3, 8175t x@‘g uaﬂg are weeled =7
5. Peggy has saved $9,215. If she |slt{ an hou about how many hours did sh she work?l—(.
Z 26
Sonje A q,215—, 455 aé \q(z‘g
~, = (&}
3 29 =5 10,000 = i x T
wo\k 03 2.0 Agg,
CRCLN 7 G Y) woerJL aload 860 houuys 2
EUR!KA ‘ Lesson 18: Use basic facts to estimate quotients with two-digit divisors.
MATH
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A STORY OF UNITS

Name

15

Lesson 18 Homework 5 2

Date

Estimate the quotients for the following problems. The first one is done for you.

a. 8328+41 b. 2,109+ 23 c. 8215+38
~ 8,000 + 40 = Aobh = #n = 3;000 + 40
=200 = [00 = XO

d. 3,861+59 e. 2,899+66 f. 5576+92
= o QO 25000 = (eo :é/w 0 (Oé
. o _ Yo - 6O

g. 5,086+73 h. 8432+81 i. 9,032:89
= 5(OOO+ \o0 = R0 = 80 = f] abn + e o
= 50 = SOO = I OO

. 2,759+48 k. 8,194+91 l. 4,368+63
2500 50 Qo0 - G0 Uloo. 06
- 5o - leo - 10

m. 6,537+ 74 n. 4,998 + 48 0. 6,106+ 25
30D 76 .8 . 50 6000 . 30
= zO = IOO =—m

Lesson 18:

EUREKA
MATH

Use basic facts to estimate quotients with two-digit divisors.
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A STORY OF UNITS

Lesson 18 Homework m

2. 91 boxes of apples hold a total of 2,605 apples. Assuming each box has about the same number of
apples, estimate the number of apples in each box.

bonS
q |

tial
2,605

2,605 A
:\-\j 3 (OOO - \OO
o~ 20

Tt bvald be 305{/7/7&’5 [77 boy

3. Awild tiger can eat up to 55 pounds of meat in a day. About how many days would it take for a tiger to

eat the following prey?

AS
A\ | RS
'\
285
128

51

Prey Weight of Prey Number of Days
Eland Antelope 1,754 pounds 3/ 4
Boar 661 pounds o /3 .
Chital Deer 183 pounds e)
Water Buffalo 2,322 pounds [/é
1754 < S5 = FroesS6 A8
éél 155 o 50 550 < I3
83 255 = Zorso= 4
-
2,322355 N dp00E50% :
EUREKA Lesson18:  Use basic facts to estimate quotients with two-digit divisors
MATH
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A STORY OF UNITS Lesson 19 Problem Set m

Name Date

1. Divide, and then check. The first problem is done for you.

a. 41+30 Check:
1 *R1a
3 ol2 1 30x1=30
R oamn 30+11=41
G SR
R v 26 =
e 2o X TCO
b. 80+30 3¢[§5 Lo +Z_o¢go
20
%..’—”E‘ o Bo%l e
c. 7150 &6 Lg)z. Go t21 =l
d. 270430 50(9‘—,0
210
2 go %8 = Yo
e. 643+80 @bﬁ—a puot 3 ° 43
=
w & qox 2= \80
f. 21590 A6 2\%50 \%O+55 =721 5
/
29
EURE Lesson 19: Divide two- and three-digit dividends by multiples of 10 with

M ATH.. single-digit quotients and make connections to a written method.



Lesson 19 Problem Set m

A STORY OF UNITS

2. Terry says the solution to 299 + 40 is 6 with a remainder of 59. His work is shown below. Explain Terry’s
error in thinking, and then find the correct quotient using the space on the right.

" -
4 012 9 -9 4 0 |PDe9rs9
=0 2r 40
_ (@
5 9 2.8
.’———_—-__.
i

ﬁrr‘m/ MJ a ffmf/ﬁ%é/‘
larger thar The di¥isO
7&14 “f LS j'z '] s mAis Joe e

3. A number divided by 80 has a quotient of 7 with 4 as a remainder. Find the number.

N - g()-_-;;: 7@1‘(‘ 3o 5@10
_%55 T L
= 59,(( =

A

The nunber se4

4. While swimming a 2 km race, Adam changes from breaststroke to butterfly every 200 m. How many
times did he switch strokes during the first half of the race?

race ' 2000= 2= z)ooo

2K ov 2000w
\oco = 200 = S

(‘)/\A.V\ﬂ—e/ ever
200w

wt halkof race,

lle chanses shole S tHmes
Eu “KA ‘ Lessén 19: Divide two- and three-digit dividends by multiples of 10 with
MATH

single-digit quotients and make connections to a written method. 36



ASTORYOFUNITS

~ Lesson 19 Homework [E0F8

Date

Name

1. Divide, and then check using multiplication. The first one is done for you.

a. 71%20

b. 90+40

c. 95%60

d. 280+30

e. 437+60

f.. 346+80

EUREKA
MATH

I Lesson 19:

Check:
20x3 =60

60+11=71

hoxa=80
s6+10=1°

Lox»|=@O
o +35=15

36 A <A1°

<1GE0

#otlo-
M/:? b= l;épC»’
420—&‘?-457—

Divide two- and three-digit dividends by multiples of 10 with
single-digit quotients and make connections to a written method.
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A STORY OF UNITS Lesson 19 Homework m

2. Anumber divided by 40 has a quotient of 6 with a remainder of 16. Find the number.

N=Z 4o =6 &L Yoxe =240
2o =256

The Wb@F & 296

3. Ashipment of 288 reams of paper was delivered. Each of the 30 classrooms received an equal share of
the paper. Any extra reams of paper were stored. After the paper was distributed to the classrooms,
how many reams of paper were stored? 531

PeamsS ,
241 - 058
28% ﬂgg__
classyoomS | &

20

There are (& reams of papes chored

4. How many groups of sixty are in two hundred forty-four?

| 244
24 O

=7
There Qre 4(7/0”[95 G‘fé’a

EU“KA Lesson 19: Divide two- and three-digit dividends by multiples of 10 with
T single-digit quotients and make connections to a written method.
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A STORY OF UNITS Lesson 19 Homework m

2. Anumber divided by 40 has a quotient of 6 with a remainder of 16. Find the number.
N=< Yo =6 R IL Yo xe =24 ©
2do+1b=256

The nuwioeris 256

3. Ashipment of 288 reams of paper was delivered. Each of the 30 classrooms received an equal share of
the paper. Any extra reams of paper were stored. After the paper was distributed to the classrooms,
how many reams of paper were stored? 5]

PeamsS >
256 212ee

———————

classvooms | &
20

There are % reams of papes ctoped

4. How many groups of sixty are in two hundred forty-four?

il
oo 244
24 O
—

There are 4 grevps et 60

Lesson 19: Divide two- and three-digit dividends by multiples of 10 with
single-digit quotients and make connections to a written method.

EUREKA
MATH
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A STORY OF UNITS , Lesson 20 Problem Set m

Name Date

1. Divide. Then, check with multiplication. The first one is done for you.

a.- 65717 b. 49+21
e A=Y
e z R 14 Check: a,/ﬁ/? 1%27,_7;77
i 17x3=51 j_f_
14 51+14=65
C.- 7839 d 84+:32 2 g
2 e 2%x22° G
= i 52|54 s Y
be L 120 -
39 Y
ob o
2.0
e. 77+25 f. 68+17 .
3 lé/cfiﬁ 7%)-25’;— \/(Xq" 2%
o 1
- EE LAt 0%
W ey
//'E e
ﬁlABIFI'II(A Bt L e

89



A STORY OF UNITS

Lesson 20 Problem Set m

2. When dividing 82 by 43, Linda estimated the quotient to be 2. Examine Linda’s work, and explain what
she needs to do next. On the right, show how you would solve the problem

LLinda’s estimation: —|

2
80

Linda's €3

SWJ

5 @

’{;!‘a"ﬁ"&‘(ﬁ’"
as& need to correct

Linda’s work: j L Your work: W
2

l
43[8 2 438 2

26 - %
? 29

s clese.

("\L‘\ VL oe

3. Anumber divided by 43 has a quotient of 3 with 28 as a remainder. Find the number. Show your work
{

N = 43 =

g
\u%
e =

3 Rr 2% a € AR
S ,ZSZ;T + 28
Y Z e T
uz\157 : 157
A

— =2

Write another division problem that has a quotient of 3 and a remainder of 28
O=d =3
"—\O =3 g 28 AOX3 =

R 2K
2, x32=90 +2£
20 t2&

Jox3 = (90 £29

T

)

(48

&%
| 18

5. Mrs. Silverstein sold 91 cupcakes at a food fair. The cupcakes were sold in boxes of “a baker’s dozen
which is 13. She sold all the cupcakes at $15 per box. How much money did she receive?

EUREKA

MATH

St
0{ {

1 Lesson 20:

|

35
XL

O

Divide two- and three-digit dividends by two-digit divisors with
single-digit quotients and make connections to a written method.

Ohe received 4105

90



Asros,v'quuun;s;’i_. = — Lesson 20 Homework m

Name Date

1. Divide. Then, check with multiplication. The first one is done for you.

a. 72¢31 b. 89+21 s 4] e al
2 R 10 Check: 2(‘ [% i 'ﬁ
= ;; 31x2=62 g ¥ AL
10 62+410=72 ool
c. 94:33 d. 67+19
: = [~
h ax27e o
521 iy IS agtie=et
26 4
e 79+2§ g f. 83:21 _:33__. 3%2\:(0;
T (- S
55 15+4=14 g
g Z&
;.

EUREKA
MATH

single-digit quotients and make connections to a written method.
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A STORY OF UNITS Lesson 20 Homework m

2. A91square foot bathroom has a length of 13 feet. What is the width of the bathroom?

7
A: LX\L.)

? ,

‘“" a\je= BEEX T ‘5)(‘_3]

o

\= 125¢

The widthh s 7t
3. While preparing for a morning conference, Principal Corsetti is laying out 8 dozen bagels on square plates.
Each plate can hold 14 bagels.

a. How many plates of bagels will Mr. Corsetti have?
| X,é.fwt Pﬁ@
begels |

g dozens =4 @ 34

a pr‘t@ holds ﬁ egigé\s
LY

b How(n Coretti peeds Fplales

any more bagels would be needed to fill the final plate with bagels?

s ther

EUREKA
MATH

more bagels oui(kfcml)(ehf
A Wor ?-?4 w

Lesson 20: Divide two- and three-digit dividends by two-digit divisors with
single-digit quotients and make connections to a written method.

92



A STORY OF UNITS Lesson 21 Problem Set m

Name Date

1. Divide. Then, check using multiplication. The first one is done for you.

a. 258+47
5 R23 Check:
= ; g g 47x5=235
a3 235+23=258
b. 148+ 67 K\%N G (24
1Y sy 2y +id = (48
S
\Y
3t £ 4
c. 591+73 ¥ : g =58
73\ 54) 12% i
584 5 8441 =541
=
d. 759+94 ,—ﬁ——%—? 2 i A
. 759 e 759 % xaqu WA
4| g e 1S
"G A ot
g
=
e. 653+74 ;
74)(\2%6‘ 2oy Z6F ot
542 paatel=653
R =
G\
f. 257+36 % 154
36257 54’%76“__257
292 dep "
35) .
EU“KA \ Lesson 21: Divide two- and three-digit dividends by two-digit divisors with

single-digit quotients and make connections to a written method.



ASTORY OF UNITS Lesson 21 Problem Set w

2. Generate and solve at least one more division problem with the same quotient and remamder as the one
—_— —
below. Explain your thought process.

g i
1 gl
1
(sx72) 411 -
576 + 11~
58

3. Assume that Mrs. Giang’s car travels 14 miles on each gallon of gas. If she travels to visit her niece who
lives 133 miles away, how many gallons of gas will Mrs. Giang need to make the round trip?

Y pules 23 k2= g
ey 266 miles e
3q G VOLLW /‘“P /LL’

, 26
\23 mLL&‘S I Q

Nz e
; é@m need S 14 aallons =

rings 79 pencils to school. After he givés each of his 15 classmates an equal number of pencils, he
will give any leftover pencils to his teacher.
a. How many pencils will Louis’ teacher receive? E-r'

14 sgc%’eti_ {'51 ’,770;
(5 classmales /%_

Ao = i LIL 24 O | '
Loui s teacineq u;i“ receive ol b
b. If Louis decides instead to take an equal share of the pencils along W|th his classmates, will his teacher
receive more pencils or fewer pencils? Show your thinking.

]
' L
-
- “l . \
/(, ) o ‘;\t,l P e nmn.

s 6 179

\oH =16 il o
\5

ulﬁ “\6001/26—7” w&“ keceinve \E:) P@%’\C‘t ié

Eu REKA ‘ Lesson 21: Divide two- and three-digit dividends by two-digit divisors with
M ATH.. | s'lee-digit quotients and make connections to a written method.
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A STORY OF UNITS Lesson 21 Homework

Name Date

1. Divide. Then, check using multiplication. The first one is done for you.

8. 129521 Check:
6 R3 '
21f1 29 21x6=126
138
3 126+3=129
o
b. 158+37 557?\ 5 U x3F= \43
100 g tlo= \5€
\6
c. 261:49 qoﬁij\(p e Z:i
i atip + L6 = Zel
\ &
d. 574+82 =+

g;%\’%?'zl‘/ g L. 5;14
edy

e. 464 +58

Lesson 21: Divide two- and three-digit dividends by two-digit divisors with
single-digit quotients and make connections to a written method.

EUREKA
MATH

95



A STORY OF UNITS Lesson 21 Homework m

2. It takes Juwan exactly 35 minutes by car to get to his grandmother’s. The nearest parking area is a 4-
minute walk from her apartment. One week, he realized that he spent 5 hours and 12 minutes traveling
—————— .
to her apartment, and then back home. How many round trips did he make to visit his grandmother?

2spuudes  (3Ex )Y @ x2) 4

b p Fd5)+ 8 181212

e 7, 43 5

G\ ’Io‘\a\

AT .
€c <
ﬁ'v;é:b;?imm%s Tuwarv made & s

3. How many eighty-fours are in 672?

3
g4\ 12

2

There are ® cfﬁﬁy*?cwrs
i 572

| Lesson 21: Divide two- and three-digit dividends by two-digit divisors with
single-digit quotients and make connections to a written method.

EUREKA
MATH




A srony;qegﬂgg = us

Name

Lesson 22 Problem Set m

Date
1. Divide. Then, check using multiplication. The first one is done for you.
a. 580+17
34 R2 Check:
175 810
= 34x17=578
70
68 578 + 2 =580
2
b. 730+32 2 : 32
\79;’5‘1 1 22X22= 704 ¥22_
2 - 4
e Jout26= T80 5
/v—a\—’o ’:7 oY
L. 5
2.6 -~
c. 940+28 25 2 ¥ 5¢
23 {80 o e
l¢, = O‘ L\ © ,/)f-’,/
g4 oz tle % 4
At 724
\6
: 24K g\ ‘
g 23 1963 2ux23=558 24
H6 Lhat) = 995 7 2
93 qg
;”’12,2 $5¢ 2
; §) Be
. 704 +46 e e
: aci 704 U X 15690 B
46 L0+ =70 23 ©
244 4o
EUREKA it i Bty i S O e o
MATH“ successive remainders in each place value.

97



A STORY OF UNITS Lesson 22 Problem Set

HO |\ xdp= O©
f. 614+15 ‘QY(&E)L{ poo H\4 “GlY

iy

Halle solved 664 + 48 below. She got a quotient of 13 with a remainder of 40. How could she use her
work below to solve 659 + 48 without redoing the work? Explain your thinking.

173

4866 4 Since 59 .lS.» S less tHhgn €69

- : : 4 ’H‘% %ué{(i“/‘ f’t RS ‘3 aV\OL "\/0!,6
-144 , g
40 revaal maer- 15 29

27 students are learning to make balloon animals. There are 172 balloons to be shared equally among
the students. :
a. How many balloons are left over after sharing them equally?

A
27| |32
e

{O

b. If each student needs 7 balloons, how many more balloons are needed? Explain how you know.
T = 184 \84
' —\12_

Web need F more \oa“;om 2

| Lesson 22: Divide three- and four-digit dividends by two-digit divisors resulting in

Eu “KA two- and three-digit quotients, reasoning about the decomposition of

H" | successive remainders in each place value.

98



Name

~ Lesson 22 Homework (-8

Date

1. Divide. Then, check using multiplication. The first one is done for you.

21|14 87

b. 485+15 22

d. /399231

e 820:42 \q
21820

| Lesson22:
|

EUREKA |
MATH

Check:

21x23=483

483 +4 =487

22x15=Yso

22 x 2] = 43
gase 1 e

[
s 999
q;x\q;7qg

148 +22 =820

Divide three- and four-digit dividends by two-digit divisors resulting in
two- and three-digit {

g about the d: position of

successive remainders in each place value.




A STORY OF UNITS Lesson 22 Homework m

S o xS6 = 8% %\2’
f. 90856 Gy C;C;S %L+'2_:0[O% E’g—z

48 T
336 Tl
a2

\ 2.

/

2. When dividing 878 by 31, a student finds a quotient of 28 with a remainder of 11. Check the student’s
work, and use the check to find the error in the solution. 2= g
)

= 31%26 -9 x3L

3| | 838 > z
b2 ges ! -ﬁ:ﬁ e:%%

756 gy
—_—

\O

3. A baker was going to arrange 432 desserts into rows of 28. The baker divides 432 by 28 and gets a
quotient of 15 with remainder 12. Explain what the quotient and remainder represent.

-28
Theye ave Jé Yol S 6§ =2
There aré \2. MSSQ?’{S chﬁ’a

Lesson 22: Divide three- and four-digit dividends by two-digit divisors resulting in
Eu“KA two- and three-digit quotients, reasoning about the decomposition of

M ATH" successive remainders in each place value. 100



ASTORYOFUNITS Lesson 23 Problem Set m
Name Date
1. Divide. Then, check using multiplication. , 2
a ;fsihzs P b.” 4,368 +52 \/% - (g;
e X 2 4y
S e E
- 42 20% Y20
5 14853 208 Y36%
22 9 & —— - 7 :
e &
2= 4,851 ¢
(A
! | 2
c. 7,242:34 213 d. 3,164:45 \_2,0/ A‘%
= x Y 4513 H(g‘-( _y/ﬁfé—b
e ST v
G 2
44 %ﬂ;? 3, 64
54 ::I)
loZ
LoZ
e
&
|
;’?L{ S 10 G
e. 9,152+29 = f. 4,424+63
319 %29 Vo424 A H
8 2839 - g 1o
25)01 152 28 6(’) 4y | ader
3% ﬁ'é——*g 14 +
_— q 12 24
il e
20
2 glox
1ySs
el
FUREKA |  Pemmeiusesseniommmms,

MATH
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A STORY OF UNITS Lesson 23 Problem Set 5 )

2. Mr. Riley baked 1,692 chocolate cookies. He sold them in boxes of 36 cookies each. How much money
did he collect if he sold them all at $8 per box?

=

7..
361692 XL!"Q

e ==
2527
25 2

(e

Mr. Q:iey couec,JfCOL $37é&

3. 1,092 flowers are arranged into 26 vases, with the same number of flowers in each vase. How many
flowers would be needed to fill 130 such vases?

A= )l?)o
2(0\\0012 42
|60t et T
= =2 260
o D2 C .

5 GHeo

;\ need 5o flowels

s water tank holds 2,560 gallons of water. After two weeks, the zookeeper measures and
finds that the tank has 1,944 gallons of water left. If the elephant drinks the same amount of water each
day, how many days will a full tank of water last? {% 4

fank 2,660 2,560 1y T(;\é

19499
a =
Y 2Zec Laay e S 2
56
Jige - —o
?3;6@

The ok will \aﬁ A
58 0\01/35‘ ,,_%%__

Lesson 23: Divide three- and four-digit dividends by two-digit divisors resulting
in two- and three-digit quotients, reasoning about the decomposition
of successive remainders in each place value.

EUREKA
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Lesson 23 Homework 502 ]

Name Date
1. Divide. Then, check using multiplication.
a. 9,962+41 Q:’\ ?\ b. 1,495+ 45
2 U2 . LT =
””‘Lf,";’i 242 NWEE
w\ A 3 15 &
e w12’ i
11 = q0
U -
L 7
it -
c. 6691+28 woB d. 2,625+32
X 2.8 .
i a5
28| ¢6al \a0 4 22 Y%&
56 41é =
109 AL il
g R !
\ \
52 o b,
— =z,
e. 2,409+19 2\3- & f. 5821:62
o 12 \ 4 ,éi,
9\ 2,469 T34 2\ S8+
L. e S
= % "‘\43 Zus
58 —aoa ~\%o
iza 2 o
g
\S
EUREKA t e Dtﬁcf: athr dﬁgt’ig?’ ot oo 8
MATH of successive remainders in each place value.
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ASTORY OF UNITS Lesson 23 Homework |

2. Anpolitical gathering in South America was attended by 7,910 people. Each of South America’s 14
countries was equally represented. How many representatives attended from each country?

=0
\d | 7,10
6

- oy
e
o Euch coitirhd hﬁéé.
5 965 repesentaties

3. Acandy company packages caramel into containers that hold 32 fluid ounces. In the last batch, 1,848
fluid ounces of caramel were made. How many containers were needed for this batch?

S

)()

227 #48
Ico
248
224

Y

The company peeds ST eontaimers

Lesson 23: Divide three- and four-digit dividends by two-digit divisors resulting
in two- and three-digit quotients, reasoning about the decomposition
of successive remainders in each place value.
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A STORY OF UNITS

Name

Lesson 24 Problem Set m

Date

1. Divide. Show the division in the right-hand column in two steps. The first two have been done for you.

a; 12+6=02 b. 1.2+60=(1.226)+10=02+10=0.02
c. 24:4= 0.6 d. 2.4+4o=(9 -‘/—Z—@)—j{o =0 == 10 0.0k
e. 147+7=_ Pol f, 14.7+7o=/\"/°7":7)f/° =32-17l0=0:2]
g 034:2= Oe/“f h. 3.4+20= 54‘4%2)‘:/0:/-77 TVO:O-’?
i. 045:9=_0+09 i 0.45+9o=(00'7/5"-"9')f/0-‘0-0‘?7./(”0’0(’5
k. 345:3=(./5 I. 34.5 +300 @405 23)2 loo=/1.5%lov=
O-115
EUREKA 1 e Wi s s vl e S
MATH' 105



AstoRvOFUNTS Lesson 24 Problem Set [EI71

2. Use place value reasoning and the first quotient to compute the second quotient. Explain your thinking.
a. 46.5+5=93 -
SO 6" Gxl®; B i+ gpes  Fromy

465:50=_0:93 Asping ik, \nuhdl”ecl UAS

b. 0.51+3=0.17 26 T 2x/6 , So :7 7665 —ﬁ’cW
051:30=_(). 0/ F \quwdﬂd’HAS t'é ﬁGQVSQ%dthS

c. 29.4 +70=0.42 il Jozle ; So l{ @o{j
204:7=_Le A {'\owlb \ndv\MdtW +o ‘f@’\‘HAS

d. 13.6+40=0.34 4 3 40%[0) So |£ SOCJ WC\DWV

Bera=3.4 handred the Yo terths.

3. Twenty polar bears live at the zoo. In four weeks, they eat 9,732.8 pounds of food altogether. Assuming
each bear is fed the same amount of food, how much food is used to feed one bear for a week? Round

your answer to the nearest pound. ) ( o 8 \ L (p \2\ ,,(, ~ [Q.a’z,
PG C%(ngg 4 ‘L[’gé’é’ fach beeur
g o —-—90:@ eo{t& 122 pou nAs

=3 3
\ 6 g ~o6 o weelk.
\\ 5220 &
Z
Az 2
4. The total weight of 30 bags of flour and 4 bags of sugar is 42.6 kg. If each bag of sugar weighs 0.75 kg,
what is the weight of each bag of flour? 4 Q\o & | ‘ «.3 2\
U HXo-T9Kg =dKg —'3.0 - 3o|3q.6
—29.6 30
‘f; &
(@)
———
] O
Yot bag Weiyhs 132 Kq @5
EUREKA e o AN P e e o
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A STORY OF UNITS Lesson 24 Homework |

Name Date

1. Divide. Show every other division sentence in two steps. The first two have been done for you.

a. 18+6=03 b. 1.8+60=(1.8+6)+10=0.3+10=0.03

c. 24+8= 0°3 d. 24:80=

\/11«4%@)—':/0 = 0-3=lo =0-0

o uer2= 7+ 9 f. 14.6+20= i
(Me2)%le = 2370 = 0:7F

g. 08+4= 0‘?\ h. 80+400=
(go ﬁ}—Lf‘} _:.— /OD - ,;Q.(:’ ‘.;{'00 = 2

i. 056+7= 08 j. 0.56+70=

@,%/;7):7!0;‘&.3 “fo = 0.0

g

k. 945+9= /’ &5 . 9.45+900 =

(395393100 = 1.05100 00005

Lesson 24: Divide decimal dividends by multiples of 10, reasoning about the
EU“KA ‘ placement of the decimal point and making connections to a written
MATH e 107



A STORY OF UNITS

Name

Lesson 25 Problem Set

Date

1. Estimate the quotients.

a. 3.24+82=
b. 361.2+61=
c. 215%31=
d.- 85.2::31 %
e. 27.97+28=

2
a. 7.16+36=
b. 716+36=
c. 716+36=~

EUREKA
MATH

3.2+%0 = 0.04

HED T8 = |

Estimate the quotient in (a). Use your estimated quotient to estimate (b) and (c).

+3a2= Yo = 0./8

I o /s

/- &

>

' Lesson 25: Use basic facts to approximate decimal quotients with two-digit

divisors, reasoning about the placement of the decimal point.

109



A STORY OF UNITS Lesson 25 Problem Set m

3. Edward bikes the same route to and from school each day. After 28 school days, he bikes a total distance

of 389.2 miles.

a. Estimate how many miles he bikes in one day.

3§9.2 =~ 390 290=306 = 13
2y = e

Edward. bikes cloout 12 priles tn ene daey

b. If Edward continues his routine of biking to school, about how many days altogether will it take him

to reach a total distance of 500 miles? - é :

S

%S00 =< (3 = | = T?"é

ECLLU(}—Y&L waill ‘ka Ke, ﬂga?éu-t. \E LO

38 days To reach 500 miles: [

4. Xavier goes to the store with $40. He spends $38.60 on 13 bags of popcorn.

a. About how much does one bag of popcorn cost?

$38:0 spenT 36.607 e

=06
2 bags 2 :

Eadn !toaﬁ @12 }ou peovin g&f Omv A $‘5'90

b. Does he have enough money for another bag? Use your estimate to explain your answer.

Ho. 0o
Xaviey does hel have — 38,60
; il : s
& Vtou\a) M Mo heys \%C neLs

c

5%5&@ aumndk (;‘Y‘i./ has 4. 46
ledT

EU“KA l Lesson 25: Use basic facts to approximate decimal quotients with two-digit
M ATH_ | divisors, reasoning about the placement of the decimal point.

S

2459 O
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A STORY OF UNITS Lesson 25 Homework m

Name Date

1. Estimate the quotients.

a. 3.53+51= 3.5 - So &, &7

11

b. 242:42= 24 + 4o = 0-6

c. 9.13+23= \o. = 20 O, 5
d. 79.2+39= $6 = Yo a
e. 7.19+58= 7.2 = ¢o £l ol

2. Estimate the quotient in (a). Use your estimated quotient to estimate (b) and (c).
a 9.13:42= Q<4do — ,3A2L
@44)>to = 2.254%0

2.5

b. 913:42= QOO ’:L{O S

c. 913:42~ B+uog = 2e A5

EU“KA Lesson 25: Use basic facts to approximate decimal quotients with two-digit

M ATH... divisors, reasoning about the placement of the decimal point. 111



A STORY OF UNITS — Lesson 25 Homework m

3. Mrs. Huynh bought a bag of 3-dozen toy animals as party favors for her son’s birthday party. The bag of

toy animals cost $28.97. Estimate the price of each toy animal.

2¢9.9% gl °° 3640 =0.75

oy
2 dazen e

(2)
£ acl ‘Lb\/ alf\ftmnﬁ‘( (,;}g'f: 40.17_9

4. Carter drank 15.75 gallons of water in 4 weeks. He drank the same amount of water each day.

a. Estimate how many gallons he drank in one day.

1679 \ 5. 19 & 20
U weeks 98 = 3o
(2% days)

b. Estimate how many gallons he drank in one week.

o e A Y

' /s 3 / ;‘l o
He wedd AnnK qbosu f 4.6 jﬂwéﬁ*.f

c. About how many days altogether will it take him to drink 20 gallons?

" 3/
z0 ,géf‘ﬁa@ 2
O, ¥ 9%

—

T2
S

P

+I00

wry

; by J i } & ¢
1t would take aloonT o deyd
4 drink 22 C;'g/wr e

EUREKA Lesson 25: Use basic facts to approximate decimal quotients with two-digit
M ATH.. divisors, reasoning about the placement of the decimal point.
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A STORY OF UNITS . e Lesson 26 Problem Set 5 :

Name Date

1. 156+ 24 and 102 + 15 both have a quotient of 6 and a remainder of 12.
a. Are the division expressions equivalent to each other? Use your knowledge of decimal division to

justify youranswer. < &-5_ L~9
2q (/o0& 15[ /02 Ne . Th&yamm%
_ﬁ__zf— ALe / 1’__
@ 24
I{;;@ /'%.g éﬁq(vc( ey
e S

b. Construct your own division problem with a two-digit divisor that has a quotient of 6 and a remainder
of 12 but is not equivalent to'the problems in 1(a).

T - 1 3 2125 A1
35 ’a\ PN = (24 s "
210 B L —— 24 &
i“— . 2= |
2. Divide. Then, check your work with multipﬂ:ation.
a. 36.14+13 JOThs b., 62:79+23 « TV
2. (2 Yfz-‘q 2.72 23 | Zoz-m
o] 8 s = i
oA o e
g 34 e s G 6 ==
5 4
182 _‘ig» e 2 =
25 W52
¢ 122111 T PR d. 6.89+13 \Zik o BT
, e
el e 0.5 2 L
<limeie 82 e
N L e e
= &b 5 I
i’\”;’{"\ o e 3 e
| “» 4 = G e LHB
: 6452 e f. 24.96+52
Cehy salisene , 52 | i il
52 _ 209 2211 }Q/T .
o i = Gie
g : B 4\ =
a4q. o 7Y
EUREKA | ™™ rccnmsamauinepocementottne doamsl pom and mocng

connections to a written method.

MATH
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A STORY OF UNITS : Lesson 26 Problem Set

5.1 a8
g 300.9+59 5&/‘ 0.9 h. 30.09 + 59 59 le,OQ

2q 5 59 299

/ e
/_\f_f_ia 5¢ ~ 001’_3;( 5q
la q o1 : (;r 5q
’ | e = 5 e
B v o 20 S o
3. 4801 30,09
3. The weight of 72 identical marbles is 183.6 grams. What is the weight of each marble? Explain how you
know the decimal point of your quotient is placed reasonably. 7 . 55
¥ SRR A
183,62 T7A 72\ 183.6
A |10 e
1$ =1 viabowb %j%
'2 19 sy
3£%

4. Cameron wants to measure the length of his classroom using his foot as a length unit. His teacher tells

him the length of the classroom is 23 meters. Cameron steps across the classroom heel to toe and finds i
that it takes him 92 steps. How long is Cameron’s foot in meters?
= )‘_Q_:_;_R {9
S g21a30
fAgn
i 50
aeron s feo A
é&,«’ﬂi c t /é‘é’?;‘,
is aloony 026 v
5. Ablue rope is three times as long as a red rope. A green rope is 5 times as long as the blue rope. If the
total length of the three ropes is 508.25 meters, what is the length of the blue rope?
¥l Xl = §0§525
b Bt rt (1) (s >b) 70.75
9 5xb=5%Bxy) r+ (3xr)tTx (34 Ris \4[G0g. 25
tobel £ 50825 =% 3r ¥R A -
Red 15 2¢-7@ LSO - % % ,_ M4
Blue 15 §0.25 Hol.25 —65 a5 i
Qreen 1§ Ho (25 1322~
EUREKA | ™™™ i svouttho pacemencrinedeamel po sno g 915
MATH"‘ e connections to a written method. 146
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ASTORYOFUNTS

Name

Lesson 26 Homework |00

Date

1. Create two whole number division problems that have a quotient of 9 and a remainder of 5. Justify which

is greater using decimal division.

-4

b
v 35 x9)+5 gl
@ xa)px s - 25 722 é 545 281%2°
~ 02545 e =g =
—_ 250 5 e 3 5 o ey S
o
2. Divide. Then, checkyourwork\gth ultiplication. & ‘ 2-
a. 759%2 b. 97.28 + 19
| z A7 795.9 L \q {a7.28
3-45 Ll >< \2 L ﬁ% 2
»22 2 o 0% AL
T He X
(G % e il >z
_,(e.fl—g—;(—(; 2.03 o 1,2% 3 i il
4 ~ o *
c. 77.14+38 BS)W d. 12.18+29 29 B
|
[
& Ty e —_
22— L ( ¥ 24 “5g
g i 37, —=
? | L" - 5 e ———r ; <3
3% Divﬁe. ¥ 5 5& ¢ 6 7N \ 2“ = }(&L,’.ﬁ%i
a. 97.58+3 2 \ o7.% 4 b. 553545 L}r’g\ £5.35
i FA
B0 B Rt ST
o e s £’ 20
e 9 T
A \
LR S -
a7 5% ’-’%‘_
EUREKA Lesson 26: Divide decimal dividends by two-digit divisors, estimating quotients,
ATH

reasoning about the placement of the decimal point, and making
connections to a written method.
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A STORY OF UNITS Lesson 26 Homework |

4. Use the equations on the left to solve the problems on the right. Explain how you decided where to place
the decimal in the quotient.

a. 520.3+43 =12.1 52.03+43 = 1 ?\ l

520.3 (s ten times lai@@r then 5 203

b. 19.08+36=0.53 190.8+36 = 5 = 3

P
1108 1s Yten Linmes less than 40.2

5. You can look up information on the world’s tallest buildings at
http://www.infoplease.com/ipa/A0001338.html.

a. The Aon Centre in Chicago, lllinois, is one of the world’s tallest buildings. Built in 1973, it is 1,136 feet
high and has 80 stories. If each story is of equal height,'how tall is each story? i
2 : o\ 3
Vi 3e 60 | 13 £ et
g per
- T G «F{ 322
Eadh ctory € |49, : 2L
b. Burj al Arab Hotel, another one of the world’s tallest buildings, was finished in 1999. Located in
Dubai, it is 1,053 feet high with 60 stories. If each floor is the same height, how much taller or shorter
is each floor than the height of the floors in the Aon Center? T & 5
P 1.2
o 7 '_I' 5 e o ‘7‘ >
(,05) /90 {‘"E’t’!{/‘:}j)
4 — B 4 {»
¢ R SR 4 A ds _T@% ! ;ulﬁe ) o ./: ,
Dol 8 Rva¥ fied o T 493
: £ t £ 8. ) ﬁ',a 2 x ;
Aownn Cevited \U.2 s g
s - — i 765 220
— ¥ [ Pe
tis 2.36 4 daller et
Lesson 26: Divide decimal dividends by two-digit divisors, estimating quotients, -
EU“KA ‘ reasoning about the placement of the decimal point, and making b o o
M ATH"‘ connections to a written method.
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~ Lesson 27 Problem Set [P0

Name Date
1. Divide. Check your work with multiplication.
a. 56+16 : b. 21:14 c. 24:48 2
0,35 ° Lo = Tug
4 % a3 —
%6 = '
\% 0/ 1 O
AL
d. 3624 & e. 81:54 s f. 15.6+15 \ s O .
L
2456 oy T 51 i (,1%@
= 5 L{— A i
% /27 O oL
\ 220 9 /o) &C
= f’l’g e
g 54+15 : h. 16.12+52 i. 2.8+16 #p, / e
Qe L |28
15 ). 5.4 5ol 7 s
4 9 A | R0
T 90 e |12
qo 2:45 ~ 20
2. 30.48 kg of beef was placed into 54 packages of equal weight. What is the weight of one package of _é/,
beef? /_L.,’g 0
20e4E <oy 2¢ \ 30.4&8
' 24,
e U
=2
| @&
V& 8
* /-’
EUREKA Lesson 27: Divide :iecir;al divlider:ds bytwo-?lghit thisorsi estiimatindg quc':;ients, o
MATH' P Ellbcs 4 Wi AT ton e e
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ASTORYOFUNITS =

- Lesson 27 Problem Set m

3. What is the length of a rectangle whose width is 17 inches and whose area is 582.25 in??

T | LS v 34.25
592.05i7 : 17 | 5%2.25
\_—-? Lx = 582625 5/ l
=1 L= 34251 = T
o (3

—R
=it S g&h s 34290 /‘L

4. Asoccer coach spent $162 dollars on 24 pairs of socks for his players. How much did five pairs of socks
cost? : @ ,,7\,5 3 2
24 patrs 2\l 2 &7 9
¥ o2 i ,LE‘///;
: - ol
S pairs . @ 8_
#: i
o
4 pairs cost 43375

A craft club makes 95 identical paperweights to sell. They collect $230.85 from selling all the

paperweights. If the profit the club collects on each paperweight is two times as much as the cost to
make each one, what does it cost the club to make each paperweight?

Raige vl o
P?@;‘“gﬂ e a5 \ng 85 2 | 2.4 _3{25
e - 1.0 24 \.6

oWE

03 s
& 320-89 30 3
: e S0
Pm&tt 269

; ¢ 285
/30(' 'H/\L coS T—

The w?t ok @ad(\ RApeivel \ft \54’0 ¢\
EU“KA I Lesson 27: Divide decimal dividends by two-digit divi

estimating quotients,
| - reasoning about the placement of the decimal point, and making
M ATH' connections to a written method.
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ASTORVOEUNIBE S = e nr — o e o = Lesson 27 Homework m
Name Date
1. Divide. Check your work with multiplication.
a. 7328 b. 51+25 2.0U c. 65+13 0-9
0.5 il \%4@5
nae 15| 5
23 °\10 25 A ¢S
%(o /‘_— = O
=t 0o
\do
o (KoX)
/%’ -

: ; o Ml
d. 1321616 e 56168+28 7 0 f. 604.8+36 3 :

<580 TACTARE: %@‘3
gt 56

\Z.§ //Z(e%
- | &
L\3\8 P& 6
=7 \LEd
\iz 8

" \38

e

q
SAA =
28
28

L)

|

2. Inascience class, students water a plant with the same amount of water each day for 28 consecutive
.EEXS- If the students use a total of 23.8 liters of water over 28 days, how many liters of water did they

use each day? How many milliliters did they use each day?

MeVS c\aYS x_,q_lg-é
23.8=a¢% 28 1 23.8

=
NSO

They use 0.85 liders a ,;u? lg ©
or %56 m‘,ih\'\’rerg A 7-

Lesson 27: Divide decimal dividends by two-digit divisors, estimating quotients,
Eu “KA i reasoning about the placement of the decimal point, and making
H" connections to a written method.
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A STORY OF UNITS

Lesson 27 Homework m

3. Aseamstress has a piece of cloth that is 3 yards long. She cuts it into shorter lengths of 16 inches each.
How many of the shorter pieces can she cut?

ngl\ﬁj_ - : 77 iy

3‘7@0(5 = 3 %2 =36 incheS \(:\’g‘;
S

=

She con cut 2 shorter preces

4. Jenny filled 12 pitchers with an equal amount of lemonade in each. The total amount of lemonade in the

12 pitchers was 41.4 liters. How many liters of lemonade would be in 7 pitchers?

' 134 e
Pdchers LWeS
ks O

o BoHE 3.45
lQ\\ aq).4d Ve
e e ¥ 36 —Y.\'5

o4 A
6
— % O
1 \_Q_..

i ‘Qijxc\/z,cé’g hold 2d45 liters
of lemonade

| Lesson 27: Divide decimal dividends by two-digit divisors, estimating quotients,
Eu REKA I reasoning about the placement of the decimal point, and making
M ATH' | connections to a written method.
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A STORY OF UNITS Lesson 28 Problem Set m

Date

Name

1. Avais saving for a new computer that costs $1 218 She has already saved half of the money. Ava earns
$14.00.per-hour. How many hours must Ava work in order to save the rest of the money?

Aq.
(om tex 4[;2‘3 __’@’O 7 3“2—0
L 24V, 18 o ﬁﬂz;oz

Soved 3121872 2 . A
— 6 5
: i = o
EarnshW an weur \9 44
=3 u A
//I_O
70
o

Avee s o weor K U2 .5 hout }
J(po;cwe Alre. rest of the pmeney éé’d‘\

2. Michael has a collection of 1,404 sports cards. He hopes to sell the collection in packs of 36 cards, and
make $633.75 when all the packs are sold. If each pack is priced the same, how much should Michael

charge per pack? :{, ?\ \ G 2 (21:5‘

|, 404 covds ;fﬁr\%oﬂ 5 *\-’”(;;5\3 5
= i St ﬂ” ,.h._ 5
3o coAdkS Jpoc ':\aj}e. 53 L& Y
‘V‘Lﬂ !s"?/ (O ii ‘-.:gg W & i( -“?’ZFE: "_;2_,..3.‘-—‘-;-

Micvel shald chaxge & (625 per pac R

Lesson 28: Solve division word problems involving multi-digit division with group
size unknown and the number of groups unknown.

EUREKA
MATH
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A STORY OF UNITS Lesson 28 Problem Set m

3. Jim Nasium is building a tree house for his two daughters‘ He cuts 12 pieces of wood from a board that is
128 inches long. He cuts 5 pieces that measure 15 ch, and 7 pieces evenly cut from what i
e
Ieft Jim calculates that, due to the width of his cutting blade, he will lose a total of 2 i

makmg all of the cuts. What is the length of each of the seven pieces? 2% 2

S g5 W
£ % 1675 incdeS =875 tw ;Qgﬂ_ . s
2 g¢—2=126 ' 1835 47.25

4. Aload of bricks is twice as heavy as a load of sticks. The total weight of 4 loads of bricks and 4 loads of
sticks is 771 kilograms. What is the total weight of 1 load of bricks and 3 loads of stlcks?

slicks 5 ‘ 7\|§7'L7[l e adO

bricks 2xs s 7;2
2425 5,{
49_-\le:?:“ r B, 48

4e 4 Ry =T 221 .25 30

25 = 771 :
125 (00
O
O

Eo\o\r\og +L’\.€,7P(Cc@5 1S 79 inches (om9 35

T‘NLUJQ\ \(L& o5 | \oadh 0% \OV‘CKS
a3 lbads o S&\(,Kg e Al 5 K% 2

Eu REKA Lesson 28: Solve division word problems involving multi-digit division with group
size unknown and the number of groups unknown.
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A STORY OF UNITS

Name

Lesson 28 Homework m

Date

1. Mr. Rice needs to replace the 166.25 ft of edging on the flower beds in his backyard. The edging is sold in
lengths of 19 ft each. How many lengths of edging will Mr. Rice need to purchase?

Jd5 x4

\9 \ 6625

_Ba
(‘223 Mr. Rice needs
/"is fo purchase A

/-"% 6§ endin

le Wjﬂvs

2. Olivia is making granola bars. She will use 17.9 ounces of pistachios, 12.6 ounces of almonds, 12.5 ounces
of walnuts, and 12.5 ounces of cashews. This amount makes 25 bars. How many ounces of nuts are in

each granola bar?

—~ P= \7'q wunes
A = 2. € cunees
W= \29 cungs
C = \2:5 cuncs

| 2 i
7.9

261 55.5
[P 6 /-_';5__
1>+ S 2.65
29 j,,%,c
55‘5 5o
~ 6

T‘n@’(‘e are L%‘Zl ounces 0(\_' ‘mﬁs W O Smwo [oL ba,k

3. Adam has 16.45 kg of flour, and he uses 6.4 kg to make hot cross buns. The remaining flour is exactly
enough to make 15 batches of scones. How much flour, in kg, will be in each batch of scones?

%lwr ¢ - 43 ‘Kf)
buns  Go't g
§Con8 T eal 'y

% Q—gﬁ—————‘ et

= ";ﬁ 15 | 12025
TCD} (35 los
108

& TWXG (AJOMOL ke 0.6 H%\N ea W bateh o ccones

Lesson 28:

EUREKA
MATH

Solve division word problems invalving multi-digit division with group
size unknown and the number of groups unknown.
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Lesson 28 Homework m

4. There are 90 fifth grade students going on a field trip. Each student gives the teacher $9.25 to cover

admission to the theater and for lunch. Admission for all of the students will cost $315, and each student
will get an equal amount to spend on lunch. How much will each fifth grader get to spend on lunch?

5*?{;};&&) 3«515
et ¥ A0
IS gy ago
total
4 315 %

E«df\ SJVuAfV‘-l( wilh
geb 4 579 o sperd

%$32.50
.—.3‘\5\00

o

/ o
5. Benis makingLnath manipulatives to sell. He wants to make at least $450. Each manipulative costs $18

to make. He is selling them for $30 each. What is the minimum number he can sell to reach his goal?
od \/

7 - 30-1% =2
(%4

e e

4\8 eaw

Sale prce

420

The minimum he can sell
To eaxin 450 19 29 .

EUREKA
MATH

Lesson 28:

Solve division word problems involving multi-digit division with group
size unknown and the number of groups unknown.
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ASTORYOFUNITS = = ~ Lesson 29 Problem Set m

Name Date

Solve.

1. Lamar has 1,354.5 kilograms of potatoes to deliver equally to 18 stores. 12 of the stores are in the Bronx.
How many kilograms of potatoes will be delivered to stores in the Bronx? 2
15.425

T
\,36443 g g | 1254.9
1§ stores /E:f”_q

12 stoeS n 15.25 e,

8 e Bionx X 12 ST
152 - Y
qozo0 o0

s

o
Lamar delivers qo2 K. to stoves 1n the Brnx,

2. Valerie uses 12 fluid oz of detergent each week forfier laundry. If there are 75 fluid oz of detergent in the
bottle, in how many weeks will she need to buy a new bottle of detergent? Explain how you know.

a weerh : | 2.5
|2 oonces = | /5
wottle 732

15 sunces 26

\/@QYLC v‘bu”oLﬁ- 1Lo bwid a

weu) \ODH'Q u‘g\{i’f lo wee Ko

l “\m ‘;\5’ She /4"\%{ noS 025 ounce -
?7\!\1/ VW,(’,(XS; YWLO 1 |

Eu“KA Lesson 29: Solve division word problems involving multi-division with group size
unknown and the number of groups unknown,
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3. The area of a rectangle is 56.96 m”. If the length is 16 m, what is its perimeter?
L vyw = A Al . .
[6 X 7 =5¢906 A \%solb F' Qx(L} )

< é — o ‘SG +lé
T e Y = S
low| S P=2x 1956
- =t b= 29,02
q6
e
The ‘oenwa@ter s 39.\Awv
4. Acity block is 3 times as long as it is wide. If the distance around the block is 0.48 kilometers, what is the <

area of the block in square meters?

w AN (L+w>' 0 4E
B g (900 T—?
L= 3XW Lf

e = O Ul Kwu=480
=048 K o A= Lxod
= Ugo wv L Aow =90 20

, A = Z‘IOOVW

Too aree of the bloc s 94700 o
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ASTORYOFUNITS = ~ Lesson 29 Homework m

Name Date
Solve.
1. Michelle wants to save $150 for a trip to the Six Flags amusement park. If she saves $12 each week, how

18w

many weeks will it take her to save enough money for the trip?

L \Z5 =
i} L8
Az
20
7N 5 ¢

"’f’éo
0 i
_’5 M(d/wtle w:{{ ‘fa“f/ :
13 weehs to save 6vz.sujh
ney

wie °
Karen works for 85 hours throughout a two week period. She earns $1,891.25 throughout this period.

How much does Karen earn for 8 hours of work? % 2 2 = 5(5 ;; ) ‘(9
2o
95 | ygal-2s %
110
19\ i
\ 10

=2

Harew earns ' 178 for 8 hours- '\'1‘2%39__

The area of a rectangle is 256.5 m®. If the length is 18 m, what is the perimeter of the rectangle? >
e LR 1312565 R 2w
25,.5 = X% | §

MeSm| welds . TTC F:;zosuqf
yagf:zs 1%e P-2x 220

~45° :?.9—7) p=¢d.50

el
9 @
|
5
~ The perimeler s (u-50
EURIGE ™ | = g e e E



4. Tyler baked 702 cookies. He sold them in boxes of 18. After selling all of the boxes of cookies for the

same amount each, he earned $136.50. What was the cost of one box of cookies? : 3.5 o
702 ceskies QT TeZ 5q 13652
boxés wath \8 o W=
o2 195
okal sale $ 136:90 62 g z
/”a. /j———o" o

Eadn bpx cost 390

5. Aparkis 4 times as long as it is wide. If the distance around the park is 12.5 kilometers, what is the area
of the park?

> P- 2 (LAW)
=1 | s=fKthsXw)
B 400 P T § (5 “)7
aig = loxw
e e
5 = L

lQ.S'ﬁ'\O‘ “2’5
25 x4 =5

P (225 Y
' Do ¥y Fas
A= B¥mx 1L.2oKm x5

A< 625 Kt (- 25

| N B o 5 13
The arta oF He pa.rV\ 19 (s25 KW

EU“KA Lesson 29: Solve division word problems involving multi-division with group size
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